Ratio to ALEPH

o(4 jet)/a(inclusive)

=
o
| I IIIIIII| I IIIIIII| I IIIIIII| 1]

[HEN

=
<
I

1072

91G

vy*/Z (Hadronic)

&

4

eV ee
[ [

Ex
A.
A—— Pythia 6.425 350

ALEPH

-~ Pythia 6.425 351
-~ Pythia 6.425 352
- Pythia 6.425 353
- Pythia 6.425 354
- Pythia 6.425 355
- Pythia 6.425 356

Pythia 6.425 357

Pythia 6.425 358
-~ Pythia 6.425 359

ALEPH_2004_ S5765862

7
ﬂ/
i

=

-

mcplots.cern.ch [arXiv:1306.3436]

133

~%IIII IIIIIIIII IIIIIIIII

— i 3
— 9]
= & | ]
L Y:
B n
4
VYYyyyvvvY I -
-
|
!
| —
i
1 1 | 1 1 1 |
-4 -2

Rivet 3.1.10, = 200k events

N

0.5



	Contents
	Page 1


